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Run 6021 mpswise, accO: All

Enilries: 234090

Mean: 65120 +- 0.0132

Sid Dev: BI7E2 +- 0.0093
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Run 6021 mpswise, acc0: Beam ON, Laser ON
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Eniries: 41238

Mean: 14. 7304 «/- 00052

Sbd Dwerv: 1.0540 4+~ 00037

Entries: 41201

Mean: 14. 7525 /- 00052

Std Dwery: 1.0544 - 00037
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Run 6021 mpswise, acc(: Beam OFF

Enlries: 6931

Meari: 02332 40- 0.0005

Sid Dev: 01319 - 0.0004
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Run 6021 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Enitries: 34024

Mean: 28570 +- (.25

Sid Drey: 04534 - 0.0078
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Run 6021 mpswise, Acc0 vs Time: All
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Run 6021 mpswise, AccO vs Time: Beam ON, Laser ON
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Run 6021 mpswise, AccO vs Time: Beam ON, Laser OFF
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Run 6021 mpswise, Accl vs Time: Beam OFF
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